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Wl A B | C ; D | E | F G H I ) B
4 | Nonlinear Least Squares curve fitting of van deemter Equation
5
Lo y=Ax+B/x+C
8 | X 1/x y B A C
9 34 0.294117647 9.59 26.73133  0.02441 1.566900601!
10 £l 0.14084507 | 5.29
1| 16.1 0.062111801 | 3.63
12 | 20 0.05 342
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HE =2£22 2= 1’'C L= IK=0l=Ul 2R 2= = Jtot HU
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mc=C (c=specific heat)

U= AH= AQ+VAP = d2l=llt. 1Bz 50| €8 f dEL H
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50 0.14046
100 0.15024
150 0.16134
200 0.17376




)
s

o))
- 2| Mo HOX HOOERE A GOE
b3 7 — —m |
EE ;;;i*' ge ag BT | | Siuss g uz [ gl S AR
B | (22 2|[E ][O X% (= | | Hernatenza- (wo% oW I3 2 A
szEc & 28 g 2z 5 BAEAN S
X38 - (> e
. A C D E H I J K L M

1 |
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3

4 T T? c

5 | -100 | 10000 [ 0.11904
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1 | 200 | 40000 | 0.17376
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-100 0.11904
-50 0.12486
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50 0.14046
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4 T T2 c A B C
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7| 0 0 0132
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3
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5 10000 | 0.11904 9901 1
6 2500 | 0.12486
7| 0 0.132
8 2500 | 0.14046
9 10000 | 0.15024
10 | 22500 | 016134
11 | 40000 | 0.17376
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= -100 | 10000 | 0.11904 9901| =(E5-F5)A2 1 1 1
6 -50 2500 | 0.12486 2451
7 | 0 0 0.132 1
8 50 2500 | 0.14046 2551
9 100 10000 | 0.15024 10101
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6 | -50 2500 | 0.12486 2451
7 | 0 0 0132 1
8 50 2500 | 0.14046 2551
9 100 | 10000 | 015024 [ 10101
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11 | 200 | 40000 | 017376 | 40201
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5 | -100 | 10000 | 0.11904 9901[ 98027443.78 1
6 -50 2500 | 012486 2451| 6006788.952
7 | 0 0 0.132 1| 0753424
8 | 50 2500 | 0.14046 2551 6506884.393
9 | 100 | 10000 | 015024 [ 10101] 102027165.9
10 | 150 | 22500 | 016134 | 22651 513060492
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1

2 | c(t) = A+BT+CT?

.

4 | T T? C c(cal) l(c-c(cal))"Z

5 -100 | 10000 | 0.11904 9901| 98027443.78 1

6 | -50 2500 | 0.12486 2451| 6006788.952

7 | 0 0 0.132 1 0753424

8 | 50 2500 | 0.14046 2551| 6506884.393

9 | 100 10000 | 0.15024 10101{ 1020271659

10 | 150 22500 | 0.16134 22651| 513060492
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12
13| sum  =SUM(G5:G11)
14 |
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2 | c(t) = A+BT+CT?
.
4 | T T? C c(cal) | (c-c(cal)*2 A B C
5 -100 | 10000 | 0.11904 9901[ 9802744378 1 1 1
6 | -50 2500 | 0.12486 2451[ 6006788.952
7 | 0 0 0.132 1| 0753424
8 | 50 2500 | 0.14046 2551 6506884.393
9 | 100 | 10000 | 015024 | 10101| 102027165.9
10 | 150 | 22500 | 016134 | 22651 513060492
11 | 200 | 40000 | 017376 | 40201[ 1616106430
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3
4 | T T? C c(cal) | (c-c(cal)*2 A B C
5 -100 | 10000 | 0.11904 9901[ 9802744378 1 1 1
6 | -50 2500 | 0.12486 2451| 6006788.952
7 | 0 0 0.132 1 0753424
8 | 50 2500 | 0.14046 2551| 6506884.393
9 | 100 10000 | 0.15024 10101| 102027165.9
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4 T T C c(cal) | (c-c(cal))A2 A - C
5 -100 | 10000 | 0.11904 9901 98027443.78 1 1 1
6 | -50 2500 | 0.12486 2451{ 6006788.952 |
7 0 0 0.132 1 0753424 5 37| DH M
8 | 50 2500 | 0.14046 2551] 6506884.393 ' E—
"o | 100 | 10000 | 015024 |  10101] 1020271659 REYE:  [san3 (@]
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2 | ¢(t) = A+BT+CT?
-
4 | T T? C c(cal) | (c-c(cal))*2 A B C
5 | -100 10000 | 0.11904 | 0.118568| 2.2264E-07 0.132 |0.000159 | 2.42E-07
6 ‘ -50 2500 0.12486 | 0.124678| 3.30024E-08
7 . 0 0 0.132 0.132| 1.17613E-14
8 50 2500 0.14046 | 0.140533| 5.39858E-09
9

100 10000 | 0.15024 | 0.150278| 1.47718E-09
150 22500 | 0.16134 | 0161235 1.1028E-08
200 40000 | 0.17376 | 0.173403| 1.27356E-07

sum 4.00902E-07
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2 | c(t) = A+BT+CT?
3
4 | T T? C c(cal) | (c-c(cal)*2 A B C
5 -100 | 10000 | 011904 | 0.118568| 2.2264E-07 0132 |0.000159 | 2.42E-07
6 | -50 2500 | 0.12486 | 0.124678| 3.30024E-08
7 | 0 0 0.132 0.132| 1.17613E-14 c() = 0.132+0.000159T+2.42E-07T2
8 | 50 2500 | 0.14046 | 0.140533| 5.39858E-09 C(t) = 0.132T+0.000159*T%/2+2.42E-07T3/3
9 | 100 10000 | 0.15024 | 0.150278| 1.47718E-09
10 150 22500 | 016134 | 0.161235] 1.1028E-08
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1
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4 | T T? C c(cal) | (c-c(cal)*2 A B C
5 -100 | 10000 | 0.11904 | 0.118568| 2.2264E-07 k 0.132 io.ooo159{2.42£-071
6 | -50 2500 | 0.12486 | 0.124678| 3.30024E-08
7 | 0 0 0.132 0.132| 1.17613E-14 c(t) = 0.132+0.000159T+2.42E-07T2
8 | 50 2500 | 0.14046 | 0.140533| 5.39858E-09 C(t) = 0.132T+0.000159*T%/2+2.42E-07T3/3
9 | 100 10000 | 0.15024 | 0.150278| 1.47718E-09
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3
4 | T T? C c(cal) | (c-c(cal))*2 A B C
5 -100 | 10000 | 0.11904 | 0.118568| 2.2264E-07 0132 |0.000159 | 2.42€-07
6 | -50 2500 | 0.12486 | 0.124678| 3.30024E-08
7 | 0 0 0132 0.132| 1.17613E-14 c(t) = 0.132+0.000159T+2.42E-07T?
8 | 50 2500 | 0.14046 | 0.140533| 5.39858E-09 C(t) = 0.132T+0.000159*T%/2+2.42E-07T/3
9 | 100 10000 | 0.15024 | 0150278 1.47718E-09
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1
2 | c(t) = A+BT+CT?
3
4 | T T? C c(cal) | (c-c(cal)*2 A B C
5 -100 | 10000 | 0.11904 | 0.118568| 2.2264E-07 0132 |0.000159 | 2.42€-07
6 | -50 2500 | 0.12486 | 0.124678| 3.30024E-08
7 | 0 0 0132 0.132| 1.17613E-14 c(t) = 0.132+0.000159T+2.42E-07T?
8 | 50 2500 | 0.14046 | 0.140533| 5.39858E-09 C(t) = 0.132T+0.000159*T%/2+2.42E-07T/3
9 | 100 | 10000 | 0.15024 | 0.150278| 1.47718E-09
10 | 150 | 22500 | 0.16134 | 0.161235| 1.1028E-08
11 | 200 | 40000 | 0.17376 | 0.173403| 1.27356€-07
12
13 | sum | 4.00902E-07
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